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Simpler	
  case:	
  3	
  symbols	
  per	
  card	
  
•  1	
  symbol	
  for	
  every	
  line.	
  
•  Every	
  pair	
  of	
  cards	
  lie	
  on	
  a	
  

unique	
  line...	
  
	
  ...so	
  have	
  a	
  unique	
  symbol	
  
in	
  common.	
  

•  Fano	
  plane	
  
•  Finite	
  projecAve	
  plane	
  of	
  

order	
  N=2.	
  
–  N2+N+1	
  points,	
  lines	
  
–  N+1	
  symbols/card	
  

•  Dobble:	
  N=7	
  
–  8	
  symbols/card	
  
–  57	
  points	
  (cards)	
  
–  57	
  lines	
  (symbols)	
  



57	
  cards	
  
57	
  symbols	
  



49	
  cards	
  
56	
  symbols	
  

• Assign	
  a	
  symbol	
  to	
  
cards	
  on	
  a	
  straight	
  line.	
  
• Each	
  pair	
  of	
  cards	
  
define	
  a	
  unique	
  line...	
  
•  ...so	
  have	
  a	
  unique	
  
symbol	
  in	
  common!	
  
• 7	
  parallel	
  lines	
  per	
  
direcAon.	
  
• 8	
  direcAons...	
  
• Can	
  assign	
  extra	
  cards	
  
for	
  intersecAon	
  of	
  
parallel	
  lines.	
  
• These	
  also	
  need	
  a	
  
symbol	
  in	
  common.	
  

57	
  cards	
  
57	
  symbols	
  



• Finite	
  projecAve	
  
plane	
  of	
  order	
  n=7.	
  

• n2+n+1	
  cards	
  
• n2+n+1	
  symbols	
  
• n+1	
  cards	
  /	
  symbol	
  
• n+1	
  symbols	
  /	
  card	
  
	
  
A	
  set	
  of	
  cards	
  with	
  a	
  
nice	
  mathemaAcal	
  

structure!	
  



Not	
  
included	
  
in	
  pack	
  

...almost.	
  



Another	
  representaAon	
  of	
  
the	
  structure	
  



0	
   9	
   18	
   27	
   36	
   45	
   54	
  

1	
   10	
   19	
   28	
   37	
   46	
   55	
  

2	
   11	
   20	
   29	
   38	
   47	
   56	
  

3	
   12	
   21	
   30	
   39	
   48	
  

4	
   13	
   22	
   31	
   40	
   49	
  

5	
   14	
   23	
   32	
   41	
   50	
  

6	
   15	
   24	
   33	
   42	
   51	
  

7	
   16	
   25	
   34	
   43	
   52	
  

8	
   17	
   26	
   35	
   44	
   53	
  

0	
   9	
   18	
   27	
   36	
   45	
   54	
  

1	
   10	
   19	
   28	
   37	
   46	
   55	
  

2	
   11	
   20	
   29	
   38	
   47	
   56	
  

3	
   12	
   21	
   30	
   39	
   48	
  

4	
   13	
   22	
   31	
   40	
   49	
  

5	
   14	
   23	
   32	
   41	
   50	
  

6	
   15	
   24	
   33	
   42	
   51	
  

7	
   16	
   25	
   34	
   43	
   52	
  

8	
   17	
   26	
   35	
   44	
   53	
  

0	
   9	
   18	
   27	
   36	
   45	
   54	
  

1	
   10	
   19	
   28	
   37	
   46	
   55	
  

2	
   11	
   20	
   29	
   38	
   47	
   56	
  

3	
   12	
   21	
   30	
   39	
   48	
  

4	
   13	
   22	
   31	
   40	
   49	
  

5	
   14	
   23	
   32	
   41	
   50	
  

6	
   15	
   24	
   33	
   42	
   51	
  

7	
   16	
   25	
   34	
   43	
   52	
  

8	
   17	
   26	
   35	
   44	
   53	
  

0	
   9	
   18	
   27	
   36	
   45	
   54	
  

1	
   10	
   19	
   28	
   37	
   46	
   55	
  

2	
   11	
   20	
   29	
   38	
   47	
   56	
  

3	
   12	
   21	
   30	
   39	
   48	
  

4	
   13	
   22	
   31	
   40	
   49	
  

5	
   14	
   23	
   32	
   41	
   50	
  

6	
   15	
   24	
   33	
   42	
   51	
  

7	
   16	
   25	
   34	
   43	
   52	
  

8	
   17	
   26	
   35	
   44	
   53	
  



Matching	
  symbols	
  occur	
  at	
  
relaAve	
  posiAons	
  (mod	
  57)	
  
0,	
  1,	
  3,	
  13,	
  32,	
  36,	
  43,	
  52	
  

	
  
What	
  is	
  special	
  about	
  these	
  
numbers	
  that	
  makes	
  this	
  

ordering	
  possible?	
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